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(mm) (kg/m) (ke) (ke)
W D13 2340 14 0.995 2.328 33 C @8R
w2 D13 2340 14 0.995 2.328 33 J (F8R)
w3 D13 510 14 0.995 0.507 8 1
W4 D13 3100 9 0.995 3.085 25 e
W5 D13 3100 8 0.995 3.085 25 e
We D13 2340 14 0.995 2.328 33 N R
w7 D13 2340 14 0.995 2.328 33 L (F8R)
w8 D13 510 14 0.995 0.507 8 1
W9 D13 3100 8 0.995 3.085 25 e
Wio D13 3100 8 0. 995 3.085 25 e
F1 D13 2520 14 0.995 2.507 36 [I—e )
F2 D13 2520 14 0.995 2.507 36 188
F3 D13 3110 5 0.995 3.094 16
F4 D13 2400 4 0. 995 2.388 10 —cc 1
F5 D13 3180 4 0.995 3.164 13 e
Fé D13 3100 5 0. 995 3.094 16 e
F71 D13 2400 4 0.995 2.388 10 — (FKE)
F8 D13 3180 4 0.995 3.164 13 e
N D13 420 9 0.995 0.418 4 1
S2 D13 420 9 0.995 0.418 4 1
S3 D13 1200 7 0.995 1.194 9 C 1
SD295A D13 415 kg
At 415 kg

$=1:50

KCOREAER, EROREZE0%BERLIZLOTHD,

INEE fL
# 0 & #H | HEES
FHIETASH~THEE 23
FRIEABARE 20
SR BRI (Hit)
TR & A BE&T

T

L

# 5




ok ot T A A X

2300

) $=1:50
c7awvy (1)
B E X £ A5 E R ERENAER
1-1 2-2 4-4
E M £ @
195_250_ 700 _250_ 195 3680 6-6 3680
(@813 @3)013 @)p13 (WB)p13
° °
= =
& N S Iy
(13 213 %§§ 3680 %§§
° °
3 8
= 100] 24 12x250=3000 249 | 100 G
3 @on Doz 5| o ol 8 I (o13. { §§§ : o 3 I \§ §§§
o1z ftf 711 G | ~ x \§§ %E% X \§§ §§§§
N . . ¥ \ ™
- He=Hl— 4= i\ \@ g% . g g 2z RN g%
N oy % = g =g S N oy N -
‘ 4 N N % S| o 2 N %
F2)D13 (F1)p13 $3)D13 N 7: §§ S, _ gy 1= i el s el e I e e e B e i = N 7: §§ &
N 8l gl |8 {8 g §
1590 NN N 2 I P @LIE A RN N 8
N N = = I=S=SSSSESESEsSel g R SN =
N o { @ i N 3 8 g
N P -~ g g N % h
NN ~ = NN ~
N 4 N St
3 3 2
5 =
@iz 100 4 12x250-3000 pag | 100 @13
S 15 48 32 100 | p4 12 x 2503000 bag | 100 3680 100 | b4 12 x 2503000 bag | 100
$=1/100
3680 3680
ARERNER EREANER
3-3 5-5
E M T m
3680 3680
1-1
A D13 (i8)13
i & o °
HE= 8 S
$=1/100 = X 2680 = :
B %% 100 24 12x250=3000 249 |100 %%
3 N 2 N
8 g N N 2 g N N
X N X N E§
3@ \§§ §:§§ )4 \§§ 7: %
3§ I NN %% S = L 3 3 N N %%
N §§§ % 2 o e N §§§ D S
2 R N N = s - NN ] N -
j RNNOR §\ J 8 EDp13 g NN §§
NN N 2 8 g g 2 N N o
R SR g g E: E RN RN =gl .
T 2 e w R
NS g 7 g 1 2 N g 7| g
N X Eg N X
NN X g E NN X
J] =G| | —
= = = =
13 100 4 12x250-3000 pag | 100 @13
100 | p4 12 x 250=3000 bad| 100 3680 100 | b4 12 x 250=3000 bad| 100
3680 3680

INESE 7L

# 0 & #H | HEES
FRI0ETASE~TARE 24
TRIOFTIARMKE

29

SRt ERFP (i)

T # A B®T

] it
B it
# R
B | & F

KCOREAER, EROREZE0%BERLIZLOTHD,



mIE

I

1914

1
[

@ 15-D13x2350
@ 15-D13x2340

B

12

.-

@ 15-D134510
12

N

15-D13x510

< =

1390

@ 15-D13x1810

1390

& =

@ 15-D13x1780

@ 11-D13x440 (4K

188~288
3§)

—
@ 11-D13x440  (F¥5)

2118

@ 15-D13x2340

2118

ok ot T A A X

c7ovs(2)

= 3

2 bS]

I

=

&
T 4180
9-D13x4180
T 4180
@ 9-D13x4180
T 4180
9-D13x4180
4180

% B R
B 5 = R @ x # BHuHE 1XLYEE " B mE
(mm) (kg/m) (ke) (ke)
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SD295A D13 409 kg
At 409 kg
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(mm) (kg/m) (ke) (ke)
Wi D13 2360 13 0.995 2.348 31 C
w2 D13 2360 13 0.995 2.348 31 L
W3 D13 510 13 0.995 0.507 7 1
W4 D13 2720 9 0.995 2.706 24 —
W5 D13 2720 9 0.995 2.706 24 e
We D13 2360 13 0.995 2.348 31 N
w7 D13 2360 13 0.995 2.348 31 |
[t} D13 510 13 0.995 0.507 7 1
(] D13 2720 9 0.995 2.706 24 —
Wwio D13 2720 9 0.995 2.706 24 e
F1 D13 1810 13 0.995 1.801 23 (I—
F2 D13 1780 13 0.995 1.7 23 1
F3 D13 2720 7 0.995 2.706 19 —
F4 D13 2720 3 0.995 2.706 8 e
NI D13 440 9 0.995 0.438 4 )
S2 D13 440 9 0.995 0.438 4 1388
S3 D13 1200 3 0.995 1.194 4 C 1
SD295A D13 319 kg
A & 319 kg
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8.97% RTPT000Qd9

( ) EROO0O9

EPOO1

B=1




o>
i

[N Y

SPK20040150 0 -0015

( ) 1 m2

0.00% : 100. 00% : 0.00% : 0.00% 11, 47
( ) ( ) ( ) ( )

RTPC0O0O010
46. 14% RTPT00010
RTPC000(Q2
32.16% RTPT000(Q2
RTPC000Q9
9.42% RTPT000(Q9

( ) EROO09

EPOOL1

B=3 ( )




SPK20040148 0 -0016
18-8-40BB ( ) 1
4.61% 37.84% : 57.55% 0.00%
( ( ) ) (
KTPC
0.6) 4.35% [ ] KTPT
1,2, 3 0.8m3 2.9t
( EKOOO
RTPC
11.31% RTPT
RTPC
10.70% RTPT
( RTPC
6.93% RTPT
RTPC
6.63% RTPT
( EROOO
TTPCD
8, 55. 50 % 24-12-25(20) W/ C 55% TTPTO
) (
1. TTPC
2 4KL 1.94% TTPT




0-0033

SPK20040148 0 -0016
18-8-40BB ( ) 1 m3
4. 61% : 37.84% : 57.55% : 0. 00% 27, 79
( ) ( ) ( ) ( )
C ) C ) EZ00O
E9999
A=1 B=2 ( )
c=2 18-8-40BB F=2
J=1 - K=1




o>
i

[N Y

SPK20040150 0O -0017

1 m?2

0. 00% : 100. 00 % : 0.00% : 0.00% 4, 31
( ) ( ) ( ) ( )

RTPCO0O0O0OJO
59.52% RTPTO0O0O01JO
RTPCO0O00(Q2
19. 54% RTPT000(d2
RTPCO0O00Q9
5.69% RTPT000Qd9

( ) EROO0O9

EPOO1

B=5




0-0035

-0018

0
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nmununn
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o o
o ™
- o o
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o
-
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A S
N ~
— o)
— M X
™ML
™ O0o
i N .o
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m 0o
< vV o
n N N
o () nuunun
N n <0OUL_X
()
N




0-0036

0 -0019
SD345 D16 D25 [ 110t 1 t
1.000t
<JI1SG3112>
SD345, D16 25 1.030t 1*1.03
1
1 t
A=1 - B=6 SD345_p16 D25
D=1 E=1 -
F=2 [ 110t H=1 -
I =1 - J=1 -
K=6




0-0037

0O -0020
10

<JI SG3112>

SD295A, D16 .016
1.56kg/ m

VP 20 4.0m .25

.03

.14




SPK20040119 0 -0021
CF 200*5 1 m
: 0. 00% 55. 98% : 44, 02% : 0. 00% 2,26
( ( ) ( ) ( )
RTPCO0O0O0Q2
41. 88% RTPT000Q2
RTPCO0O00Q9
14. 10% RTPT000Q9
- - TTPC00198
CF( 44, 02% CF 200 x 5mm TTPT00198
200 mm, 5mm
EPOO1

CF 200*5




SPK20040118 0 -0022
t=10mm 1 m?2
: 0. 00% 38.22% : 61. 78% 0. 00% 1, 92
( ( ) ) (
RTPCO0O0O0Q2
31.83% RTPT000Q2
RTPCO0O00Q9
6. 39% RTPT000Q9
TTPCDO0148
t=10mm 61. 7T8% 10mm TTPT00199
EPOO1
A=4 10mm




0-0040

0 -0023
VU@p50 L=0.4m 10
VU@50 10
L=0.4m
0.02
0.18
10




0-0041

0 -00214
00x300mm 10 m
0-0025
10 m
0. 06
0. 44
8
10 m




0

-0025

10

0-0042

VAU
100(114x%x3.1x4)

40 Omm

.03 m

( )
10. Omm




0-0043
0 -0026
100 m2

. 400

. 700

. 200

. 400

O >
nou

o r




SPK20040129 0 -0027
50cmx 120cm 1 m
6. 55% 34,31% : 59. 14% 0. 00% 13,20
( ) ( ) ( ) ( )
( ) ( ) MTPCO0O0O014
2 6. 55% 2 MTPTO0O0O014
0. 8/ 0. 6m3 0. 8/ 0. 6m3
RTPCO0O0O0Q2
19.17% RTPT000Q2
RTPC000Q1
5. 86% RTPT000Q1
( ) ( ) RTPCO000(6
5.19% RTPT000Q6
RTPCO0O00Q9
4., 09 % RTPT000Q9
TTPCOOOQ7
200 150mm 25. 94 % 150-200mm TTPTO0O00Q7
TTPC0OO0O036
GS- 3, 4. 0( #8) 24. 53 % GS-3 4. Omm( #8) 13cm,50cmx12pcmPT00036
13cm, 50c¢c m, 120cm
1.2 TTPCOOO113
, 2 4KL 2.55% TTPTO00O0113
( ) ( ) EZ0O09




o>
i

NP

SPK20040129 0 -0027
50cmx 120cm
6. 55% : 34,31% : 59. 14% : 0. 00%
( ) ( ) ( ) (
B=2

50cmx (120cm




SPK20040130 0 -0028

1

0. 00% 78. 10% : 21. 90% : 0. 00% 1, 62
( ( ) ( ) ( )

RTPCO0O0O0Q2
78. 10% RTPT000Q2
TTPC0O0O0O044
5 mx 9cm, 21. 90% 9cm, 1.5m TTPT0004q4




0-0047

0 -00209
2.0 2.5 100 m 2
0.22
0.99
40 Omm 11. 50m3
0-0030
[ ] 0.13m3 ( 0.1m3)p0.90
2
1
100 m2
1 m2
A=2 2.0 2.5 B=2
C=2 D=1
E=3 40 F=10 (cm)
G=2 H=0 ( )«
I =1




.1m3) 2

0

-0030

0-0048

O >
nou

a1 g1

.13

m3

B=60.

1m3)




5105/204 HEATHh (7= oHih) PGSR LRI

A vl gl Birg PRI | AL fii %
+ T
-l +p BHO. 13m3 184.6 | m’
W+ e+ 20l 275.2 | m® [FAkdk b
BN 1-HY IEZ<L 330.2 | m’ |EdAkEt
ERIIESIA & 150.7 | m®
7 5k T DT2t 184.6 | m’
HEER A ALy T DT2t 184.6 | m’
i L
R 2 118.3 | m®
PR H-GRIK T
dokn: T
29—} o ck=21N/mm2 41.4 | o’
B EAH ) 164.1 | m®
P T e RS 4.5 m”
FeffEay)) -} o ck=18N/mm2 3.2 m’
BRI 2.7 m”
2 i SD295A D13 2189.0 | kg |2.19t
7] SD345 D19 16. 2 kg 0.016t
B0 T )L R— SD295A D16 L=1000 85.0 | #
17K CF200 17.7 m
H ks t=10mm 6.5 m’
AL b V= VU ¢ 100 14.0 m
947" k= VU ¢ 50 1.=0. 4m 14.0 |
ST Pefie 5 65.0 | fHn’
AN A= 1200 X 500 X 2000 2.0 fE_|4.0m
1B 4.0 ZN




A vl il Bisk MEFRILAL | AL ik

IEx T
RGN IE NS 100. 0 m
A e t=0. 10m 200. 0 m’

A I 200. 0 m




okt
YR Al

184.6

H
el
&

R

5105/204 EAIGM(F=eHith)

Skt
B+

275.2

275.2 x1.2=330.2

A\ 4

Hkm
a1

184.6

A\ 4

Hkm
BAL

330.2




AT 5105/204 A B (7= sH i)
i) il
5 Mo om o owmu mlwom T % B H @ T W% R W oE T bR R
SECT 0.00 0.0 0.0 — —
SECT 2.80 2.8 10.4 5.20 14.6
SECT 5.00 2.2 10.5 10.45 23.0
SECT 6.60 1.6 7.5 9.00 14.4
SECT 7.70 1.1 6.0 6.75 7.4
SECT 8.80 1.1 5.9 5.95 6.5
IP1 1.9 14.7 10.30 19.6
SECT 15.85 5.2 15.4 15.05 78.3
SECT 17.00 1.2 12.1 13.75 16.5
0.0 1.8 — —
SECT 19.40 2.4 1.8 1.80 4.3
G 19.5 184.6




AT 5105/204 A B (7= sH i)
i) Bt
&5 Mo om o owmu mlwom T % B H @ T W% R W oE T bR R
SECT 0.00 0.0 0.0 — —
SECT 2.80 2.8 2.4 1.20 3.4
0.2 2.4 2.40 0.5
0.0 12.3 — —
SECT 5.00 2.0 15.9 14.10 28.2
SECT 6.60 1.6 18.5 17.20 27.5
SECT 7.70 1.1 23.3 20.90 23.0
SECT 8.80 1.1 26.7 25.00 27.5
IP1 1.9 25.5 26.10 49.6
SECT 15.85 5.2 13.2 19.35 100.6
SECT 17.00 1.2 11.6 12.40 14.9
G 17.1 275.2




& B E

5105/204 REA S HL(7= 6D )

vl BT CH )
a B e ¥ % B Wrom o ¥k
0.0 2.3 — —
1.3 8.5 5.40 7.0
SECT 10.00 5.7 8.5 8.50 48.5
1.4 8.5 8.50 11.9
G 8.4 67.4




% MR G E

5105/204 REASHL(7= 6D )

i) P Gl )
&5 Mo om o owmu mlwom T % B H @ T W% R W oE T bR R
SECT 2.40 0.0 3.0 — —
3.5 3.0 3.00 10.5
0.0 7.3 — —
3.0 7.3 7.30 21.9

i 6.5 32.4




% MR G E

5105/204 REASHL(7= 8D )

i) P (5 4)
&5 Mo om o owmu mlwom T % B H @ T W% R W oE T bR R

SECT 2.80 0.0 2.3 — —
SECT 5.00 2.2 2.2 2.25 5.0
SECT 6.60 1.6 2.1 2.15 3.4
SECT 7.70 1.1 1.9 2.00 2.2
SECT 8.80 1.1 1.7 1.80 2.0
IP1 1.9 4.9 3.30 6.3
SECT 15.85 5.2 5.2 5.05 26.3
SECT 17.00 1.2 4.3 4.75 5.7

i 14.3 50.9 [67.4+32.4+50.9= 150.7




& B E

5105/204 REA S HL(7= 6D )

5]

i) 3 (T
o Mo m v wu & N RE OIS
0.0 2.3 — —
1.3 8.5 5.40 7.0
SECT 10.00 5.7 8.5 8.50 48.5
1.4 8.5 8.50 11.9
7 8.4 67.4




% MR G E

5105/204 REASHL(7= 8D )

i) W (i)
5 Mo om o owmu mlwom T % B H @ T W% R W oE T bR R
SECT 2.80 0.0 2.3 — —
SECT 5.00 2.2 2.2 2.25 5.0
SECT 6.60 1.6 2.1 2.15 3.4
SECT 7.70 1.1 1.9 2.00 2.2
SECT 8.80 1.1 1.7 1.80 2.0
IP1 1.9 4.9 3.30 6.3
SECT 15.85 5.2 5.2 5.05 26.3
SECT 17.00 1.2 4.3 4.75 5.7

i 14.3 50.9 [67.4+50.9= 118.3




i

HEAHE T & f O B %
4 W 2 NRRFS B E2V ¥ B HYr
2=} o ck=21N/mn”

1 NAT 1.98

P K

ik Sl 1/2X (2. 5+2.5) X2.20 5. 50

BATHD 1/2X (2.5+2.0) X3.80 8.55

K (A) 1/2X (2. 0+2.0) X 4. 05 8. 10

K (B) 1/2X (2.042.0) X4. 15 8. 30

1E7KEE (A) 4. 50

17K EE (B) 1. 69

ERaVANIRS 1/2%0. 35X0.526X 1. 70X 2 0.31

BT HE 0. 99 X 2. 50 2. 48

at 1. 98+5. 50+8. 55+8. 10+8. 30+4. 50+1. 69+0. 31+2. 48 41. 41 41.41 m’




i

: £ B &
Pk T B A K
va 7N TR~ =1 = % =S Y (VA
LA B N AT 4. 59
BEIT 7K
FREEE 1/2 X (8. 32+8. 32) X2.20 18. 30
BATED 1/2X (8. 32+8. 72) X 3. 80 32. 38
HoK & (A) 1/2X (8. 72+8.72) X 4. 05 35. 32
HoK# (B) 1/2X (8. 72+8.72) X 4. 15 36.19
1E7KEE (A) 23.90
1E7KEE (B) 9.98
ERaVRIRS) 0.35X1.70X2 1.19
T HE 0.91X2.50 2.28
&t 4.59+18. 30+32. 38+35. 32+36. 19+23. 9+9. 98+1. 19+2. 28 164. 13 164.13 m®
P TR e B HE 1. 78 X 2. 50 4. 45 4.45  m°




i

HEAHE T & f O B %
4 W 2 NRRFS B E2V ¥ B HYr
Feftkay -} o ck=18N/mm”
FiEESHl 1/2% (0. 36+0. 36) X 1. 58 .57
BATHD 1/2X (0. 36+0. 19) X 3. 80 .05
UK (A) 1/2% (0. 19+0. 19) X 4. 05 77
UK (B) 1/2X (0. 19+0. 19) X 4. 15 .79
at 0. 57+1. 05+0. 77+0. 79 .18 3.18 m’
SERERI P FiEESHl 1/2% (0. 20+0. 20) X 1. 58 .32
BATHD 1/2X (0. 20+0. 20) X 3. 80 .76
UK (A) 1/2% (0. 20+0. 20) X 4. 05 .81
UK (B) 1/2% (0. 20+0. 20) X 4. 15 .83
at 0. 32+0. 76+0. 81+0. 83 .72 2.72 m’




At HOE

W, =
BT T A f O = e
4 W AR~k A X ¥ & H{L
B fh SD295A D13
kM- 291+536+460+441+90 1818. 00
1E 7K EBE 247+124 371. 00
2t 1818+371 2189. 00 2189.00 kg
21891000 2.19 2.19 t
SD345 D19
BORHE (ZE1%)  2.40X2.25X3 16. 20 16.20 kg
16. 21000 0.016 0.016 t
BT LR — D16 31+27+27 85. 00 85.00  fH
1E 7KK CF200 6. 90+5. 40+5. 40 17.70 17.70  m
H bt t=10mm 2. 49+2. 00+2. 00 6. 49 6.49 m’
A V=Y VU ¢ 100 2. 00+3. 80+4. 05+4. 15 14. 00 14.00 m
v4=7 k= VU¢50 L=0.4m 14.00/1.0 14. 00 14 f&pr




Pkt T £ M A B OE i %
"

4 R AR~k X o & HI
BT P ke 5
2.25X2 = 4. 50
2.35X2 = 4.70
BT K
Fikiessl 1/2X (4. 50+4. 50) X 2. 00 = 9. 00
BATH 1/2X (4. 50+4. 70) X 3. 80 = 17. 48
UK (A) 1/2X (4. 70+4. 70) X 4. 05 = 19. 04
UK (B) 1/2X (4. 70+4. 70) X 4. 15 = 19. 51
2t 9. 00+17. 48+19. 04+19. 51 = 65. 03 65.03  $ni
7 K~ 1200 X 500X 2000 = 2.00 2.0 f#
1AL 4.0 K




T iz g5 iz Al
oKk T H > ~ * 2
625 6, 765
= 7
g gi : £
g_ QI R G.)
i B Y
it ¥ o ck=21N/mm2 )
6, 440 _1325
4 B B 3 g % wy 2B
&R &Y
a4 — k| ock=2IN/mm2 |(1/2x(0.625+0.300) X 0.650) X 6.765 = 2.03
(1/2 % (0.625+0.300) X 0.650) X 0.325 X 1/2 = 0.05
2.03-0.05 = 1.98 m° 1.98
BB 1/2 % (0.625+0.300) X 0.650 = 0.30
1/2 X (6.765+6.440) X 0.650 = 4.29
0.30+4.29 = 4.59 m? 459




= £ o2
% *E ﬁ 8 A % =
T iz g5 & Al
# ok T # sk M I SECT2.80,5.00
. 3,000 }
250 2,500 250
SR
g 3
(‘-Il —
(SECTS. 00}
] o ck=21N,/mm2 AETai— @ 3138
ot B o B a 5 Higst o 2 40m2
- g' ™ = = = LEKAR ¢ 6. 90m
440 2,500 1440 | s y—
o ck=18N,/mm2
3,380
3, 580
- . . B E
& B : e % BE L om my
329 — k| ock=2IN/mm2 | 1/2 x(0.250+0.440) % 1.900 = 0.66
3.380 % 0.350 = 1.18
1/2 % (0.250+0.440) % 1.900 = 0.66
0.66+1.18+0.66 = 2.50 m° 2.50
BB (1.900 x 1.005+0.350) X 2 = 452
1.900% 2 = 3.80
452+3.80 = 8.32 m? 8.32
HEBEQ291)—F ock=18N/mm2 | 3.580%0.100 = 0.36 m® 0.36
V)Y B 0.100x2 = 0.20 m? 0.20




= = 5=
% *E ﬁ 8 A % =
I & g5 & Al
# ok T #t sk it T SECT8.80,11.56,14.56
1,300
250 800 _ggg_)
¥ == ] ¥
2l Aerd
- F 1 1= (SECTS.80)
o 8 : ° = g?mlwu’:’{z._oe}.z?m
) o —— oj| AEKIR : 5 40n
o ° E ol
b d [~ (+12. 85)
HoTsi— @ 278
y BEs o2 00m2
ot o=F WXKE 5 40m
S} By
= g ck=21N/m2
800 4501\ gtpgavyy—t
1 700 : ack=18N/mm2
- . e B =
% W % F " = B4 fom %y
a9 1Y) —Fk ock=2IN/mm2 | 1/2%(0.250+0.450) X 2.000 = 0.70
1.700 x 0.350 = 0.60
1/2 % (0.250+0.450) X 2.000 = 0.70
0.7+0.6+0.7 = 2.00 m° 2.00
B @ (2.000 X 1.005+0.350) X 2 = 472
2.000% 2 = 4.00
4.72+4.00 = 8.72 m? 8.72
HEIV91)—F  0ck=18N/mm2 1.900 % 0.100 = 0.19 m® 0.19
V)Y B 0.100x2 = 0.20 m? 0.20




T iz g5 iz Al
# ok T 1 7K BE A
2,000
3, 800 200 1, 800
3, 600 . 00 1,610 90
(=) =
ol s b=
ab o ck=21N/mm2 87‘\7 L'EER':"QT N2
I o o)
1,810 90
% B 3 g % wy 2B
&R &Y
AV YY) — k| ock=2IN/mm2 | 1/2x(1.800+1.610) X 1.900 X 0.200 = 0.65
0.200 x 1.900 X 3.800 = 1.44
1.810 X 0.350 X 3.800 = 2.41
0.65+1.44+2.41 = 450 m° 450
BB (1/2 % (2.000+1.810) X 1.900)+(3.800 X 1.900) = 10.84
(1/2 % (1.800+1.610) X 1.900)+(3.600 X 1.900) = 10.08
0.200 x 1.900 = 0.38
(1.810 X 0.350) X 2 = 127
3.800 x 0.350 = 1.33
10.84+10.08+0.38+1.27+1.33 = 23.90 m? 23.90




= = =
% *E ﬁ 8 A % =
T iz g5 & Al
HE ok T 1 7K BE B
) 2,890 )
2,890 ~ %0 550
1,125 1,575 91)
I [
S ] o| 8 .
=3 : 8= =
g f=3 ™~ b
o =
B =y =
Vo y 3l ock 21N/mn2/
90 1.575 ‘ 1.125 _
% K % Ha = By T
8 B %Y
a2 Y —Fk| ock=2IN/mm2 | 1/2x(2.890+1.750) X 1.900 X 0.200 = 0.88
1/2 x (1.750+1.575) X 0.350 X 1.400 = 0.81
0.88+0.81 = 1.69 m° 1.69
BB (1/2 x (2.890+1.750) X 1.900) X 2 = 8.82
(1/2 % (1.750+1.575) X 0.350) X 2 = 1.16
8.82+1.16 = 9.98 m? 9.98




it n &

AY /A E
(T A FH O = e
4 R TR~k H = H m OHT
IR E W=2. 00 100. 0 100.0 m
ef dilds t=0. 10 100. 0 X 2. 00 200. 0 200.0  m2
NN 200. 0 200.0  m2




5106/204 RRA G (Too)  EERRFER
LA vl il Btk FEEAL | AL e
+ T
e Al +p BHO. 13m3 173.4 | o’
%+ WE Btk Of 162.2 | m [EiFkEE T
i\ A EZ<L 216.3 | m® |EdwAKLEL
i IE o 80. 8 m”
7% s T DT2t 173.4 | o’
R I A ALy T DT2t 173.4 | o’
T
e 50.7 m”
PR H-GRIE T
dokn: T
2=} o ck=21N/mm2 35.8 | n’
P PR S 152.8 | o’
RIS PR S 3.9 m”
HeffEayy)—h o ck=18N/mm2 2.6 m’
FLRRER 2.3 m”
g fh SD295A D13 1902.0 | kg [1.90t
B fh SD345 D19 16. 2 kg 10.016t
B T L N— SD295A D16 81.0 | #A
1B KR CF200 16. 9 m
EE) t=10mm 6.1 m”
AN R =y VU ¢ 100 11.8 m
94=7" F= VU ¢ 50 L=0. 4m 12.0 | f&iAr
BT PetLE S 55.4 | fHn’
AN =i 1200 X 500 X 2000 2.0 SRS
1T FAHLK L=1. 5m 4.0 ZN




R A

173.4

Gl

5106/204 FEA 5t (f-oHit)

Bt

162.2

162.2/0.9 X 1.2=216.3

A\ 4

ERIasy

1734

A\ 4

BAL

216.3




& R %R G E B
5106/204 A 572 i)
) fi ) Bt
&5 Mo om o owmu mlwom T % B H @ T W% R W oE T bR R
SECT 0.00 0.0 0.0 — — 0.0 — —
SECT 2.30 2.3 9.8 4.90 11.3 3.7 1.85 4.3
0.0 9.8 — — 0.8 — —
0.2 9.8 9.80 2.0 0.8 0.80 0.2
0.0 9.8 — — 8.9 — —
SECT 4.66 2.2 10.5 10.15 22.3 10.8 9.85 21.7
SECT 5.96 1.3 14.8 12.65 16.4 14.0 12.40 16.1
SECT 7.96 2.0 8.9 11.85 23.7 11.1 12.55 25.1
SECT 11.64 3.7 15.9 12.40 45.9 15.2 13.15 48.7
SECT 14.56 2.9 8.9 12.40 36.0 9.1 12.15 35.2
SECT 16.96 2.4 4.3 6.60 15.8 0.0 4.55 10.9
i 17.0 173.4 162.2




& B E

CIC

5106/204 ASA H G HL(T= D)

AR ST (T ) VLTSI (o )
B oMy moe wx Bl omor wmx BwowmT wx BwoE T % &
0.0 0.0 — —
1.5 6.7 3.35 5.0
1.1 6.7 6.70 7.4
0.0 2.6 — —
HEWT 3.4 2.6 2.60 8.8
3.1 2.6 2.60 8.1
0.6 0.0 1.30 0.8
0.0 0.0 — —
0.6 7.9 3.95 2.4
3.4 7.9 7.90 26.9
0.0 7.9 — —
2.5 7.9 7.90 19.8
0.4 0.0 3.95 1.6
16.6 50.7 30.1
i~
50.7+30.1= 80.8




i

HEAHE T & f O B %
4 W 2 NRRFS B E2V ¥ B HYr
2=} o ck=21N/mn”

1 NAT 2.01

P K

ik Sl 1/2X (2. 31+2. 31) X 2. 36 5.45

BATHD 1/2X (2. 31+1. 92) X 3. 30 6.98

UK (A) 1/2X (1.92+1.92) X 3. 68 7.07

UK (B) 1/2X (1.92+1.92) X 2.92 5. 61

1E7KEE (A) 4. 30

17K EE (B) 1.93

ERaVANIRS 1/2% (0. 35X 0. 526) X 1.59X2 0. 29

BT HE 0. 99 X 2. 20 2.18

il 2. 01+5. 45+6. 98+7. 07+5. 61+4. 3+1. 93+0. 29+2. 18 35. 82 35.82  m’




i

: £ B &
Pk T B A K
va 7N TR~ =1 = % =S V(YA
LA B N AT 9. 86
BEIT 7K
FREEE 1/2 X (8. 04+8. 04) X 2. 36 18.97
BATED 1/2 X (8. 04+8. 52) X 3. 30 27.32
HoK & (A) 1/2 X (8. 52+8. 52) X 3. 68 31. 35
HoK# (B) 1/2 X (8. 52+8. 52) X 2. 92 24. 88
1E7KEE (A) 24. 22
1E7KEE (B) 13. 09
ERaVRIRS) 0.35X1.59%X2 1.11
T HE 0.91X2.20 2.00
9. 86+18. 97+27. 32+31. 35+24. 88+24. 22+
=t 13. 09+1. 11+2 152. 80 152.80 m°
M R
B HE 1. 78 X 2. 20 3.92 3.92 m’




i

HEAHE T & f O B %
4 W 2 NRRFS B E2V ¥ B HYr
Feftkay -} o ck=18N/mm”
FiEESHl 1/2X (0. 33+0. 33) X 1. 74 .57
BATHD 1/2X (0. 33+0. 18) X 3. 30 .84
UK (A) 1/2% (0. 18+0. 18) X 3. 68 . 66
UK (B) 1/2% (0. 18+0. 18) X 2. 92 .53
at 0. 57+0. 84+0. 66+0. 53 . 60 2.60 m’
SERERI P FiEESHl 1/2X (0. 20+0. 20) X 1. 74 .35
BATHD 1/2X (0. 20+0. 20) X 3. 30 . 66
UK (A) 1/2% (0. 20+0. 20) X 3. 68 .74
UK (B) 1/2X (0. 20+0. 20) X 2. 92 .58
at 0. 35+0. 66+0. 74+0. 58 .33 2.33 m’




At HOE

W, =
BT T A f O = e
4 W AR~k A X ¥ & H{L
B fh SD295A D13
kM- 323+415+409+319 1466. 00
Iy hAT 91 91. 00
1E 7K BE 232+113 345. 00
2t 1466+91+345 1902. 00 1902.00 kg
19021000 1. 90 .90  t
SD345 D19
BORHE (ZEf%)  2.40X2.25X3 16. 20 16.20 kg
16. 21000 0.016 0.016 t
BT LR — D16 31+25+25 81.00 81.00  #H
1E 7KK CF200 6. 46+5. 20+5. 20 16. 86 16.86 m
H s t=10mm 2.32+1.91+1. 91 6. 14 6.14 m’
A P L-v VU ¢ 100 1. 86+3. 30+3. 68+2. 92 11.76 11.76  m
v4=7 kb VU¢50 L=0.4m 11.76/1.0 12. 00 12 f&pr




PKIE T & B E R AEE %
4 W TEAR~E A X ¥ & H{L
BT P e 35
(1. 830+0. 350) X2 4. 36
(1. 950+0. 350) X2 4. 60
AT 1/2 X (4. 36+4. 36) X 2. 36 10. 29
BATHD 1/2X (4. 36+4.6) X3.30 14. 78
UK (A) 1/2X (4. 6+4.6) X 3. 68 16. 93
UK ¥ (B) 1/2X (4. 6+4.6) X2.92 13. 43
At 10. 29+14. 78+16. 93+13. 43 55. 43 55.43  Hni
7~ 1200 X 500X 2000 2.00 2.0 f#
1AL 4.0 K




% HEEE R E

5106/204 ASA H G HL(T= D)

) H (F i)
OB e o Wy R i B W@ T WK R

0.0 0.0 - -

0.6 7.9 3.95 2.4
3.4 7.9 7.90 26.9
0.0 7.9 - -

2.5 7.9 7.90 19.8
0.4 0.0 3.95 1.6
6.9 50.7




= £ o2
% *E ﬁ 8 A % =
T iz g5 iz Al
ok T H > ~ * 2
625 6, 860
e = .
o ©2 i = ) |
g o =2 |1 1
— e — re)
vy v S o ck=21N/mm2 /
LR 300325 6,535 1325
4 B % 3 g % wy 2B
&R &Y
a4 — k| ock=21N/mm2 |(1/2x(0.625+0.300) X 0.650) X 6.860 = 2.06
(1/2 % (0.625+0.300) X 0.650) X 0.325 X 1/2 = 0.05
2.06-0.05 = 2,01 m° 2.01
BB 1/2 % (0.625+0.300) X 0.650 = 0.30
1/2 X (6.860+6.535) X 0.650 = 4.35
(1/2 x (0.625+0.300) X 0.650) X 1.118 = 0.34
(1/2 x (6.860+6.535) X 0.650) X 1.118 = 487
0.3+4.35+0.34+4.87 = 9.86 m? 9.86




= = =
% *E 8 a % =
T iz g5 iz Al
ok H T # K M I SECT2.304.66
2, 200 250
e
(=] (=1
8 &
o 2t
_____ ?’E-gg}fﬁ}\'— C 314
o ck=21N/mm?2 y B : 2302
=33 o o =N Uk : 6. 46m
s — o
1) — .
1433 2, 200 433 | \ BB HoU—F
o ) o ck=18N/mm2
100 3, 066 100
3, 266 .
- . . B2
& B : e % BE L om my
Y — k| ock=21N/mm2 |1/2x(0.250+0.433) x 1.830 = 0.62
3.066 x 0.350 = 1.07
1/2 % (0.250+0.433) x 1.830 = 0.62
0.62+1.07+0.62 = 2.31 m? 2.31
BB (1.830 x 1.005+0.350) X 2 = 4.38
1.830%2 = 3.66
4.38+3.66 = 8.04 m? 8.04
HEBEO2 91—k 0ck=18N/mm2 |3.266 % 0.100 = 0.33 m® 0.33
V)Y B 0.100x 2 = 0.20 m? 0.20




= £ o2
% *E 8 = % =
T iz g5 & Al
# ok T #t sk it T SECT7.96,11.64,14.56
&
=
2 3 gEﬂgT:?:}?‘i}\'— : 2548
o2 — Bi#E ¢ 1.91Im2
ed EKIR 5. 20m
(SEGT11. 56)
¥ AT i— 2648
[=1) Ei##E 1. 0im?
ol g\i AEKER ;5. 20m
=
oo )— ¢
o ck=18N,/mm2
- . . B E
& W % 5 " = =Ry om sy
a2 — k| ock=21N/mm2 1/2%(0.250+0.445) x 1.950 = 0.68
1.590 X 0.350 = 0.56
1/2 % (0.250+0.445) x 1.950 = 0.68
0.68+0.56+0.68 = 1.92 m? 1.92
BB (1.950 X 1.005+0.350) X 2 = 4.62
1.950 %2 = 3.90
462+39 = 8.52 m? 8.52
HEBEQ2 91—k 0ck=18N/mm2 [1.790 % 0.100 = 0.18 m® 0.18
V)Y B 0.100x 2 = 0.20 m? 0.20




= = =
% *E ﬁ 8 = % =
T & g5 & Al
# oK i T 1t K ¥ A 2,000
L Lo o
3, 660 2,000
183 1,617
3, 460 206 20i 1, 800
[ g 7
1,617 18 b |
X K ) [
gl 8 g & E 2 8
g = I gz
ot """"" c>¥ """""""""""""""""
¥ By o ck=21N/mm2 = o ck=21N/mm2
z‘(ﬁ_ 1.617 .
1,817 183 1617 :zg-
1,817
% K % Ha = By T
8 EL L)
a2 — k| ock=21N/mm2 |1/2 % (1.800+1.617) x 1.830 X 0.200 = 0.63
0.200 x 1.830 X 3.660 = 1.34
1.817 x 0.350 X 3.660 = 2.33
0.63+1.34+2.33 = 4.30 m° 4.30
EV N (1/2 % (2.000+1.817) X 1.830)+(3.660 X 1.830) = 10.19
(1/2 % (1.800+1.617) X 1.830)+(3.460 X 1.830) = 9.46
0.200 x 1.830 X 1.005 = 0.37
0.200 % 1.830 = 0.37
(1.817%0.350) X 2 = 1.27
(3.660 % 0.350) X 2 = 2.56
24.22 m? 24.22

10.19+9.46+0.37+0.37+1.27+2.56 =




= = =
% *E 8 l:l-l- % =
T iz g5 iz Al
# ok T 1 7K BE B
3, 250 , i 3, 250 X
1,000 1,977 18 183 2,152 915
e | g 2
I
|
=
gl = -
= = &
o~ -
B | ock=2iN/m2  /
"""""""" |_§£ 1977 Jf 1,090 _
4 B % g % wy 2B
&R &Y
AV — k| ock=21N/mm2 |1/2x(3.250+2.152) x 1.830 X 0.200 = 0.99
1/2 % (2.152+1.977) X 0.350 X 1.300 = 0.94
0.99+0.94 = 1.93 m° 1.93
BB (1/2 x (3.250+2.152) x 1.830) X 2 = 9.89
0.200 x 1.830 X 1.005 = 0.37
0.200 % 1.830x 1.118 = 0.41
(1/2 % (2.152+1.977) X 0.35) X 2 = 1.45
1.300 X 0.350 = 0.46
1.300 X 0.350 X 1.118 = 0.51
9.89+0.37+0.41+1.45+0.46+0.51 = 13.09 m? 13.09
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